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of the Short period mode.
2 S Je= =~ 5urCP  find the responses
7/’ o(t) ?l*) auned 67;(#) wéere Az 5
the mormal acceleration (pas,m/e_ wp )
3) Sketeh xXt¥), g7 awd  Gzet) obtained

Jm (2) . Uhdieate. 7he  envelope carves,

the lyeﬁoﬂ( , the. S-/eaoéz state. values awd +he
overshoots c/em‘L'& .

Note : M(+)=f10 : j;‘; j% El().u%)
(& T




~ v o - - -
@].ﬁ-)ﬁ(‘fj]k% 75 %#‘Eﬂ”}:ki’ilwz%f%%\(ﬁ& 7 N é—}%;&%) ;E‘:; ;T ‘
' i

3.

An aircraft g }omneul/er‘in? wWith an ﬂnfu/ar

speed . _ —
v ¢D=70i+f‘/-—fk [’/?ﬁec)

where T,J"md T are the wunit vecters in e

(“’7"""“/”‘) bpd; frame,  Determine. the attitude
cAanjin? rate. 51;) g awd }b ot the instant?
that e aircraft Aas the attitude L 8=3p 47

and b= 60
(257)

The #hrust available al an ﬂm?/& a’f attack af

X&/e;fées ¢S .30% more. than ﬂeg—u?r&;{ +o

fly the d',?r‘/a/ﬂn?_ —Kon‘\zanfa,u? .
wc:7(/»7t‘§ Fooo f?m«tnﬂfs and HRas a wlnj area
o ][ o0 s?uare_ feet . The [:ft Coefficient of
+the wing is 2978 and the L/D of Fhe
a:r/o/awa_ is  (0./5 . What s the rate 47fc/imé?

(Use JO = .00237¢% s/“%fs )

The 477/4;/&

(257%)




